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ENGLISH VERSION
Group-A

Choose the correct answer : 1x18=18

1. If the Rules of Argument are violated, then the Argument is marked as -------- 1
i) Valid i) Invalid i) True iv) False (Fill in the blank)

2. The term/terms distributed in 'E' proposition is/are-- 1
i) Subject i) Predicate i) Both iv) None of them

3. According to quantity 'A' proposition is known as-- 1
i) Universal ii) Particular iii) Affirmative iv) Negative

4. The opposition between 'A" and 'I' propositions is called-- 1
i) Contrary i) Sub-alternation i) Sub-Contrary iv) Contradictory

5. The coversion of the propositions which is not possible is-- 1
i) A Proposition i) E Proposition iii) | Proposition iv) O Proposition

6. Obversion is a kind of-- 1
i) Immediate inference ii) Immediate inference iii) Inductive inference iv) None of them

7. The term which determines the figure of a categorical syllogism is-- 1
i) Minor term i) Middle term iii) Major term iv) None of them

8. Identify the valid Mood of Second Figure of a categorical syllogism-- 1
i) BRAMANTIP i) DARAPTI iil) CELARENT iv) CAMESTRES

9. If the Middle term of a Categorical Syllogism remains undistributed in both the Premises, then the categorical

syllogism commits the fallacy of-- 1
i) llicit Major i) Illicit Minor iii) Undistributed Middle iv) Fallacy of Negative Premises
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10. The Conclusion of a Hypothetical Categorical Syllogism is-- 1

i) a Hypothetical Proposition i) a disjunctive proposition
iii) a Categorical Proposition iv) a Conjunctive Statement.

11. Give the Boolean interpretation of the Proposition "Some Kings are musician"-- 1
i) SP=0 ii) SP£0 iii) SP=0 iv) SP=0

12. "pv~q" is-- 1
i) Contradictory i) Tautology i) Contingent iv) None of them

13. The conclusion of an Inductive argument is-- 1
i) An Apriori analytic Proposition i) AUniversal Synthetic Proposition
iii) A Particular Synthetic Proposition iv) None of them

14. There is a kind of Leap in an Inductive inference which is known as : 1
i) Leap of entailment i) Leap of certainty i) Inductive Leap iv) Leap of validity

15. A cause is-- 1
i) an antecedent event ii) a consequent event iii) a concurrent event iv) None of them

16. Mill's experimental methods are mainly the methods of-- 1
i) discovery of Validity i) discovery of Causal Relation
i) discovery of Truth iv) discovery of Invalidity

17. Identity Mill's experimental method applied in the following argument-- 1

ABC+----abc+

ABC++--—-abc++
ABC+++----abc+++
.. 'A'is the cause of 'a'

i) Method of Agreement i) Method of difference
i) Joint method of agreement and difference iv) Method of concomitant variation
18. Point out Mill's experimental method where the fallacy of 'Post hoc ergo propter hoc' occurs due to its
fallacious application : 1
i) Method of agreement if) Method of difference
iii) Joint method of agreement and difference iv) Method of concomitant variation

Group-B
Answer in 40 words : 2x9=18
19. Transform the following sentences in logical propositions : 1+1
i) Men are mortal ii) Afew philosophers are Poets.
20. Identify the propositions where relation of subalternation exists. 2

21. Give an example of material obversion.

22. What is the First Figure of a Categorical Syllogism?

23. What is the Fallacy of affirming the consequent?

24. Give the Venn Diagram of the given Boolean interpretation : SP=0

25. Determine the Truth Value of the following by using Truth Table : (p2>q).(p v q)
26. How many grounds of Inductive inference are there? Name them.

N NN DNDNDNDN

27. Give a concrete example of Mill's method of Concomitant Variation.
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Group-C

Answer in 100 words : 4x6=24
28. Explain with example the distinction between Proposition and Propositional form. 4
29. Given that "All Poets are thinkers" is a true proposition, what may be inferred about truth-falsity of the
followings? 1x4
i) All poets are non-thinkers if) No non-thinkers are poets
iii) Some non-poets are non-thinkers iv) Some poets are not non-thinkers

30. Give the Converse and Obverse of the followings after transforming them into logical propositions :  2+2
i) Afew students are weak in English
i) Valuable books are rarely read.

31. Discuss the nature and characteristics of a Categorical Syllogism. 4
Or,
Prove that : If both premises be particular propositions, no valid conclusion can be drawn in a Categorical
Syllogism. 4
32. Explain the characteristics of a Scientific Induction. 4
33. Discuss the qualitative marks of a Cause. 4
Or,

Explain the necessary and sufficient conditions of cause.

Group-D
Answer in 150 words : 6x5=30
34. What is Opposition of Proposition? What are its different kinds? Name them. 2+4
35. What is meant by Figure of a Categorical Syllogism? Explain with example its different kinds. 2+4
36. Test the validity of the following arguments : 3+3

i) Only the wise men are happy, Aristotle is wise, therefore, Aristotle must be happy.
if) Ram is too weak to walk.
Or,
Explain with concrete examples : 3+3
i) Fallacy of Illicit Minor term
i) Fallacy of four terms.
37. Define Mill's method of difference. Explain with symbolic and concrete example Mill's method of
difference. 2+4
38. Test the validity of the following arguments : 3+3
i) The faster | run, the hotter | get. Therefore, running makes me hot.
ii) It is observed in some cases that Malaria fever is stopped with administration or application of
Quinine. Therefore Quinine cures Malaria.
Or,
Explain with example : 3+3
i) Fallacy of Post hoc ergo propter hoc.
i) Fallacy of taking co-effect as a cause.
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